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Explanation

The differences in household & food contribution can be explained by living in a dorm vs. a single
family home. Since a dorm holds a much larger amount of people, it is slightly more sustainable.
e The differences in transportation is due to me currently living in a dorm, | don’t drive around much.

e The differences in travel are for the same reasons listed above and the fact that since | am a student
there is less time for vacation or it depends on someone else.

The large difference in total hectares of forest is caused by living with a family compared to by myself.




